THE GAUHATI HIGH COURT AT GUWAHATI

(THE HIGH COURT OF ASSAM, NAGALAND, MIZORAM AND ARUNACHAL PRADESH)
Written Examination for Stenographer Grade 111, Judicial Academy, Assam, 2024

Date : 08.02.2025(Saturday) Time :10 A.M.- 11.30A.M.
Total Marks.: 70 Duration :90 Minutes

Each question carries 1 mark. There is no negative marking.

ENGLISH

Questions 1 to 9 (each of these sentences is divided into four parts (a), (b), (¢) and (d). One of

these parts may have an error. Mark that part as your answer. Iqnore errors of punctuations or
spellings, if any.)

1.

Some of the more best (a)/ preserved pre-Columbian cliff(b)/ dwelling in the United
States (c)/ are located in Mesa Verde National Park in Colorado(d).

A ray of light passing through (a)/ the centre (b)/ of a thin lens keep (c)/ its original
direction (d).

The mandolin, a musical instrument (a)/ that has strings (b)/ was probably copied from
the (c)/ lute, a many older instrument (d). '

Louis Armstrong was (a)/ one of the most influence (b)/ and respected (c¢)/ of all jazz
artists (d).

Laser beams can carry (a)/ long-distance signals in way (b)/ somewhat (c)/ similar to
radio waves (d). ' _

On December 2, 1927, (a)/ the Model A Ford, (b)/ who (c)/ cost $ 385 was introduced
(d).

The Earth can be divided (a)/ to two parts,(b)/ or hemispheres, according to (c)/ the
meridians of east and west longitude (d).

Both (a)/ the structure or (b)/ the chemical composition of (¢)/ lamellae are complex
(d).

To gild (a)/ China and Pottery (b) a paint is made with gold powder/ and applying (c)/
with a brush (d).

Questions (10-14) In each of these questions, out of the four words given one word is wrong.

Find out the wrong word.

10. (a) Legislation (b) Legislater (c) Legislative (d) Legist

11. (a) Lesion (b) Lessee (c) Lessar(d) Lesser
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12. (a) Ingradient (b) Ingenious (c) Ingeminate (d) Ingenuous
13. (a) Disciplinable (b) Discipline (c) Disciplinary (d) Disciplinery
14. (a) Servent(b) Quality (c) Leisure (d) Lenitive

Questions (15-18) Choose the word opposite in meaning to the bold and underlined word(s)

in the sentences given in these questions.

15. She is fat and flabby but her daughter is
(a) Hale and hearty (b) Tall and lanky (c) Lean and thin (d) Short and skinny

16. Both Randhir and Sudhir were arrested and tried; Randhir
was found culpable but Sudhir was said to be

(a) Harmless (b) Inoffensive (¢) Innocent (d) Uninitiated

17. Some people believe that the invention of the atomic bomb has in a way turned science
into a curse instead of a |

(a) Profit (b) Blessing (c) Privilege (d) Praise

18. His answers became evasive when he noticed that the lawyer’s questions were not

(a) Simple (b) Logical (c) Thorough (d) Direct

Questions 19-34: The following paragraph has a number of blanks marked 19 to 34. Below

the paragraph against these numbers, four alternatives (a), (b), (c) and (d) are given.

Choose the best alternative that best fits into the respective blanks.

What accounts....(19)...the sex difference is not clear. It may be that boys find it easier
to.....(20)....in a society which is still predominantly controlled...(21)...men in spite of
growing emancipation of women. It may be that problems exist for the girl...(22)...the
boy escapes..(23)...parents are more anxious about their adolescent
daughters....(24)....about....(25)...adolescent sons...(26)....may be that....(27)...girl’s
sensitivity...(28)....matters of personal relationships lays her open...(29)...more anxieties.
It....(30)....be that she is more disturbed by existing confusion...(31)....values
than....(32)....boys. It may be that the girl’s....(33)...facility in expressing herself

in...(34)....makes her more willing to write about personal problems.

19. (a) For (b) To (c) With (d) In
20. (a) Fight (b) Sit (c) Adjust (d) Reply
21. (a) With (b) By (c) From (d) At
22. (a) When (b) Who (c) Whom (d) Which
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23. (@) But
24. (a) Adequately
25. (@) Our
26. (a) She
27.(a) Many
28. (a) In

29. (a) Than
30. (a) Can't
31. (a) Than
32.(a) Are
33. (a) Lesser
34. (a) Action

(b) Nevertheless
(b) That

(b) Her

(b) They

(b) The

(b) On

(b) In

(b) Ought

(b) As

(b) Was
(b) Greater
(b) Words

- (c) Yet

(c) More
(c) His
(c) It

(c) Few
(c) To

(c) To

(c) Shall
() By

(c) Of

(c) Fewer
(c) Thought

(d) Because
(d) Than
(d) Their
(d) He

(d) More
(d) With
(d) As

(d) May

(d) Of

(d) Is

(d) Much
(d) Shyness

Questions 35 to 39: Choose the most suitable word or phrase to fill in the blank in these

questions.
35. Many countries have sent medicines for............ of the latest fighting.
(a) Injured (b) Wounded (¢) Victims (d) Culprits
36. In many countries poor children face a grim........ for existence.
(a) Struggle (b) Attempt ~ (c) Efforts (d) Toi
37 i is still common in many countries, even though it is illegal.
(a) Enslavement (b) Slavery (c) Servility (d)Slavering
38. A large area of North-Eastern India has been.................. by a major earthquake.
(a) Trembled (b) Shaken (C) Upset (d) Vibrated
39. At the traffic lights there were poor people............. for money.
(a) Urging (b) Requesting (¢) Pleading (d) Begging.

Questions 40 to 43. In each of these questions, the words of a sentence are jumbled up. Each

word has a number. Choose the right choice of the sequence of numbers which represents the

- correct arrangement of the sentence.

40. Where(1), tread(2), to(3), angels(4), in(5), fear(6), rush(7), fools(8)
(a) 86754321 (b) 13245768 (c) 78654231 (d) 87514632
41. Memory(1), liar(2), a(3), a(4), good(5), needs(6)

(a) 326451 (b) 543123 (c)

325146 (d) 452163
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42. Vigilance(1), liberty(2), eternal(3), price(4), is (5), the(6), of (7)
(a) 5132467 - (b) 3156472 (c) 7532641 (d) 1325467
43, Wit(1), soul(2), the(3), is(4), of(5), brevity(6)
(a) 231456 (b) 643251 (c) 265413  (d)312456

Questions 44 to 46: In these questions, point out the nearest synonyms of the given words out

of the four responses.

44. Homage
(a) Poverty (b) Excessive humility
(c) Respect and reverence (d) Insincere flattery

45. Arbiter

~ (@) Very bitter (b) Priest

(c) Despot (d) Appointed by two parties to settle a dispute
46. Résume
(a) New adventure (b) Summary (¢) Long account (d) Judge wrongly

Questions 4/ to 50. In these guestions, point out the nearest antonyms of the given words out

of the four responses.

47. Nominal
(a) Minimal (b) Exorbitant (c) Large (d) Costly
48. Dereliction
(a) Refused (b) Hatred (c) Award (d) Observance

49, Censured

(a) Rebuked (b) Condemned (¢) Criticised (d) Complimented
50. Solemnly
(a) Carelessly (b) Flippantly (c) Lavishly (d) Dispassionately
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53.

GeTq (PINLOT ¥R &7 ?
A. fsTm

B. W&t

C. Wfoery

D. R4

54.
O] & JAFIO! e S8 dl-

A. COTNT] NT]T G5T]TR] TR NRe
B. (TN T Q9[B! AW NiZeT
C. (OTNI{ WIF Q9[B! A< TR

ASSAMESE
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D. (TS W12 A5TI<Rt SATH T NfRe

oelq (BTCOT SN T FoN01 07 Bl (MYST (AR?
A. OIL-OICaT
B. TOdI-AIfo-

C. S1To-WTRE
D. fq1-Cat

56.
(SNG-5T<F" GO S5 o (=7?
A. =y

B. AGIST<E

C. STB-(ATQIe

D. YIIi<P

57. WG I TOAITT — 2 P01 WY {57

A. VRGN TS T4~ IIRITE
B. RO~ 9 1T

C. NG 11 *1TF

D. VTG I Aora=al

58. '
57 GBT CHMINBET — A2 BN Y (Y
A. 51 g61 T (16

B. ™ 49 qraigd

c. 5 =y

D. 51 401 (519
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59. .
NG PN — *Hg WY fF7?

A. [T TG ©1eT 94 91 @16
B. YA
C. RIEPCATD

D. *NF (TP

%WWW?
A. NRTNHZ

B. 718 PO WR

C. WRIATT WA=

D. fNTBR (RIS W

61.
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63.
IS MO BG G Al O (PR (AR?

A. T+FS
B. T+F0
C. T+PO
D. ST+ O

64.
#NFICR( PRI ONEI AR (MRS AYCN T WY T2

A. (A193f®
B. SISTNT®
C. ﬂlf?ﬂl@ﬁl\:)

D. VYIS

65.
NPT ABIF BT LHOIF ArfF?

A. & 4

B. JF%E wTW 43
C. @ (Y[ ST=AAIY
D. =g &

66.
5 PR WAIAETR TR B CEATHN] YN AN (B2

IMVIGIET
B. (N

C. (GUAIB!

. gt
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67
TR (FACIEAT 60 WGV Y (57
A. G~ R <6 10
B. (N} GIAAS g A1

C. (V¥ QI (191
D. m J6W

69.
O° GIAH V1Y *RPIAIR oA I AOIYN (3(57?

A. *TE-ME-1Z-AB-23- Y
B. MB-TT-2%-7B-M8-f48
C. *MTB-ME-TIZT-T8-4F
D. *T3-MF-28-Y2-T2 3

70.
WY TROT O AYY TorAfoG 27

A. AN (RN B T4
B. 5 PN WISRQIE
C. TN (IOIEA
D. I (BT
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